بسم الله الرحمن الرحيم

قد يوجد من ضمن الاسئلة فقرات انتم غير مطالبين فيها

خذوا من الاسئلة م يلزمكم وتأكدوا من الاجابة فقد تكون غير صحيحة

موفقين جميعا

أحمد العقيل

1, regarding reticular fibers,

a. contain protein.
b. secreted by the endothelium
c. form bundles.

d. it forms the lamina lucida
e. collagen IIV
2. Regarding the loose areolar CT, it contains all of the followings except,

a. reticular fiber
b. fibroblast

c. abundant collagen fiber
d. elastic fiber
e. adipose cells

3.Regarding the veins, all are true except

a. medium sized venis possess valves.

b. Tunica adventita contain smooth muscles cells.

c. tunica media possess an internal elastic lamina.
d. Subendothelial tissue in large veins is loose.

e. large venis contain vasa vasorum  in their adventitia.
4. the spinal ganglia possess all of the followings except,

a. sensory
b. contain axon fibers
c. bipolar neuron
d. The cell bodies enveloped by collagenous capsule.

e. The cell bodies surrounds by satellite cells 

5. Regarding the peciniene corpuscles,

a. it is a chemical receptor.

b. contains sensory nerve endings.

c. contaisn pain receptor.
d. it has astrocytes.
e. contains unmyelinated nerve terminal
6. The endomysium,

a. surround the muscle fibers
b. surround muscle bundle 

c. surround the whole muscle 

d. loose CT

7. Regarding the tunica intima, all are true except, 
a. contains smooth muscles.

b. secrete collagen.

c. forms valves.

d. has No basal lamina
e. the subendothelial layer has scattered smooth muscle fibers.
8. Regarding the spleen,

a. contains marginal zone located between the corona and germinal cells.
b. contains regular trabeculae.
c. it has secondary lymphoid nodules.

d. it has afferent lymph vessel
9. Regarding lymph nodes,

a. the medulla contains lymph nodules.

b. paracortex houses T lymphocytes mainly.

c. HEVs found in the nodules
10. Regarding the thymus cortex, it has all the followings except,

a. epithelial reticular cell
b. macrophage

c. T-lymphocyte

d. continuous capillaries 

e. hassall's corpuscles 

11. Regarding the antigen presenting cells, it includes,

a. T lymphocytes.

b. B lymphocytes.

c.  dendritic cells.

d.  Epithelial reticular cells.

e. macrophage 
12. Regarding the pericytes, all are true except,
a. differenciates into smooth muscles.

b. contractile.

C. linked by gap junction to the endothelial cells.

d. differentiates into endothelial cells.
e. it does not have basal lamina. 

13. Regarding the sinusoidal capillary,

a. has fenestrae.

b. regular channels .

c. smaller in diameter than continuous capillary
d. continuous basal lamina.

e. continuous endothelial cells.

14. Regarding the peripheral nerve, all are true except,
a. contains myelinated.
b. contains unmyelinated.

C. contains sensory and motor axons.

d. the epineurium is made of loose CT.

e. endoneurium surrounds individual nerve fibers & has loose CT
15. Regarding the central arteries are sheathed by,

a. Macrophages.

b. T- lymphocytes

c. B lymphocytes.

d. Reticular fibers.
16. Regarding smooth muscles, it

a. has no sarcomere
b. it can divide
c. it doesn't have system of T tubules

17. Regarding intercalated disks, it possess,
a. fascia adherentes

b. zonula occludent

c. gab junctions

d. tight junctions
18. Regarding skeletal muscle triads, all are true except,
a. has only one terminal cisternae.

b. present at each A-I junction
19. columnar epithelial cell has all the following except,

a. tight junction 

b no desmosomes

c basal lamina

20. mitochondria have all the following except,

a. DNA

b. ribosome

c. single membrane

d. cristea

e. ability to divide 

21. regarding the cardic muscle which one is wrong
a. it has a gap junction 

b. it's fiber form anastomosing network of branching cardiac muscle 

c. the dyad system of T tubule is present 
d. has dense bodies
e. fascia adherents analogous to every disk 

22. which one of the following is wrong about the sarcomere,

a. myosin attach to Z line

b. actin found in I band
c. myosin found in A band 

d. M line found in H band 

e. it's the region between two successive Z lines

23. Regarding the epiphysial plate,
a. increase the length bone 

b. it is  an appositional growth
24. according to the synapses which one is wrong,
a. gap junction permits free movement of ions from one cell to another

b. electrical synapses are the most common

c. chemical synapses need transmitter 
d. impulses transmission is much faster across electrical synapses than across chemical synapses

25. regarding tonsils which one is true,

a. palatine tonsils has cortex and medulla
b. frequently the lymphoid nodules hasn't germinal center in lingual tonsils

c. It has lymphoid nodules in it's parenchyma

26. according to the neuroglial cells which one is wrong,
a. protoplasmic astrocyte has many short branching process

b. fibrous astrocyte are long and mostly 

c. oligodendrocyte form blood-brain barrier

d. it forms a myelin sheath around some axons in both the CNS and PNS
e. microglial cell are small, dark staining 

27. regarding the neuron which one is true,
a. some axons have collateral branches

b. it has Nissl bodies in all part
c. has almost chromatin 
28. osteoblast in lacuna forming osteocyte
29. Regarding the epimyosium, all are true except,,,,,

1. Iron,

a. is stored as hemosidrin.

b. Large MCV is caused by deficiency in iron.

c. If deficient, it causes macrocytic anemia.

2. Deficiency of Vitamin B12 is characterized by all of the following except,

a. low conc. Of Hemoglobin in a red blood cell.

b. Reduced mean corpuscular volume.

c. Macrocytes in the peripheral arteries.

3. The red blood cells will shrink and lose the water if it is put in which solution,

a. 9% of saline solution.

b. 5% of glucose.

c. 2.5% of glucose.

d. A and B.

e. In a hypotonic solution.

4. Regarding the Sodium-Potassium pomp, it

a. needs ATP.

b. Not found in all cells.

c. Transmits two sodium out and three potassium in.

d. Needs glucose as cotransporter.

5. In order to measure the total blood volume, the indicator is

a. Heavy water ( deuterium ).

b. Inuline.

c. Evan blue Dye (T1842)

1) all of the following statements are true for the myosin head except :
a- it has an actin binding site.
b- it has ATP binding site.
c- it has ATPase activity.
d- it has a Ca+2 binding site (correct answer).

2) end-plate potential :
graded.

3) Extracelluar fluid can be measured by:
a- Radio active iodine.
b- Even's blue dye .
c- insulin. ( correct answer).
d- deuterium oxide (heavy water).
e- creatinine.

4) facilitated diffusion:
a- does not need carrier protein.
b- passive transport. (correct answer).

c- needs ATP in order to proceed.

d- response for Na transport.
5)Na+ K+ pump:
a- coupled with ATP  (correct answer).
b- downhill its electrochemical gradient.
c- pump 3 K.
d- it’s not found in each cell membrane.


6) A normal individual with total body water of 42 L have interstitial fluid of about :
a- 5L
b- 15L
c- 3.5L
d- 11.5L. (correct answer)
e- 25L

7) In comparison with ECF, ICF have more,
a- protein concentration. (correct answer)
b- Na+ conc.
c- Cl- conc.
d-ca+ conc.
e- osmolarity

8)erythropoietin:
a- is glycoprotein. ( correct answer)
b- induces formation of white blood cells in bone marrow.
c- level is low in people living at high altitude
d- is secreted mainly by the liver.

9)activation of prothrombin to thrombin:
a-require active clotting factor X,V , Ca+ , phispholipid
b-is unnecessary in the extrinisc pathway of blood coagulation
c-increase in the absence of Ca+
d-stimulates platelet plug

10) erythropoiesis:
a-it start with myeloblast
b-decrease at high altitude
c-is stimulated by reduction in arterial oxygen content. (correct answer)
d-it isn't affected with removal 2 kidneys
e-it's formed in embryo at early few week of pregnancy in bone marrow
11) monocyte :
a. is the precursors of tissue macrophages.(correct answer)

b. has few multilobulated nuclei.

12) which of the following is not granulocyte:
a-neutrophil
b-eosinophil
c-basophil
d-lymphocyte
e-non of the above

13) O-ve has
a- antigens A and B
b- antibodies to A and B antigen. (correct answer)

14) deficiency of Iron leads to 
microcytic hypochromic anemia

15)all of the following are correct regarding neutrophils except:
a-it does phagocytosis
b-produce antibodies
c. has lobulated nucleus.


16)  plasma cell ,  
a-produce immunoglobulins(antibodies). (correct answer)
b-made from T lymphocyte
c. produced in lymph nodes.


17) immune response in humoral 
a. Immediate production of high titer(amount)antibodies for the second time
b. produce by T-lymphocyte.


18) If the second baby has a Rh +ve ,from a mother which has Rh -ve ,will be

a. in risk more than the first baby.(correct answer)

b. Not affected.

c. The mother's circulation will have already made antibodies from the first child but these will be too large to pass through the fetal circulation and  will not affect it.


19) eosinophil
a-secrete heparin
b-have high count in parasitic disease
c-it is not a phagocytosis cell. 
d-produce antibodies
4-All in Metastatic Calsification Except:
Atheroma
Addison disease

Hyperparathyroidism

Systemic sarcoidosis

Vit D related deficiency

5-All In Apoptosis except:
formation of blebs

Inflamation

6-Type of Necrosis in Kidney , Heart & Liver :
Coagulative Necrosis
15-an Old man Died and his Heart was Small 250 gm and he had Black areas on him:
Hemosidrosis
Liquefuscin "wear & tear"

Liquefaction 

31 -amyloid aging protein is found in:

Heart 

Liver

CT

1) regarding corpus luteum which is incorrect :

a- it developed under the effect of LH

b- it secretes progesterone

c- when pregnancy occurs degeneration of corpus luteum is preventedby hCG

d- if oocyte is not fertilized the corpus luteum degenerate 10-12 days after ovulation

e- corpus luteum of pregnancy remain active throughout the gastation period

2) which of the following component plays the most active role in invading the endometrium during implantation:

a- epiblast

b- syncytiotrophoblast

c- hypoblast

d- extraembryonic somatic mesoderm

e- extraembryonic splanchnic mesoderm

3) proliferative phase is influenced by the following hormones:

a- estrogen

b- progesterone

c- luetinizing hormone LH

d.lutenizing hormone and estrogene.
e.estrogene and progesterone.
4) regarding female reproductive cycle which the statement is incorrect:

a- the secretory phase of menstrual cycle is controlled by progesterone

b-follicle-stimulating hormone FSH is secreted by ovarian follicle 

c- secondary follicle has antrum filled with follicular fluid

d-ovulation is triggered by surge LH

e-functional layer of uterine wall slongled off during mensturation 

5) Regarding spermatogenisis, all of the followings are correct except,
a.spermatids are haploid cells.
b. sperms are actively motile germ cells.
c.Primary spermatocytes are made before birth.
6) Regarding the ovarian follicle, choose the incorrect statement,
a- the ovarian follicleproduces FSH.
b- It is transformed into carpus uteam after the secondary oocyte is ovulated.
c- Its develpment and growing is influenced mainly by estrogine

7) All of these events are right regarding fertilization except
a-it intiates cleavage of the fertilized zygote.
b-Female and male pronuclei are indistinguishable.
c-Stimuates secondary oocyte to complete its second meiotic division and become a mature oocyte.
d-Once the zona pellucida is penetrated by a sperm, it becomes imprmiable to any other sperm.
e-It normally occurs in the medial side of the uterine tube.

the answers are 
1-e
2-b
3-a
4-b

1/ which of the following is not an APC:

a)macrophage.

b)dendritic cell.

c)B lymphocyte
d)T lymphocyte.

e)langerhan's cells in the skin.

2/Wich one of the Igs can cross placenta:

a)IgG.

3/All are features of macrophages EXCEPT:

a)APC
b)phagocytic
c)produce cytokines.

e)secretes immunoglobulins

e) interacts with antibody.

4/T lymphocytes"school" is:

a)thymus.

b)bone marrow.

c)fetal liver.

d)tonsill.

e)thyroid.

5/All are fearures of NK cells EXCEPT:

a)phagocytic.

b)anti-tumor activity.

c)stimulated by activity.

c)stimulated by IL-12.

d)activated by interferons.

e)anti-viral activity.

6/B cell is located in the lymph node in:

a)cortex.

b)paracotex.

c)medulla
d)trabeculae.

7)Regarding cytokines all of the following are true EXCEPT:

a)they are low MW proteins.

b)they act with surface receptors.

c)are long acting mediators.

d)regulate inflammation.

8/Ab diversity is mainly due to:

a)different amino acid sequence in the hypervariable loops.

9/Ab having the same No. of domains:

a)Igm+IgE
10/Ab released during primary immune response:

a)IgM.

11/MHC 2 encode:

a)HLA-A+ HLA-B
b)HLL-A+HLA-C
c)HLA-D
12/When a microbe by-passes natural immunity:

13/Which of the following factors influence immune response:

a)nature of microbial antigen.

b)dose of antigen.

c)rout of entry.

d)all of the above.

e)none of the above.

14)Which organ works against blood-borne antigens:

a)spleen.

15/regarding CD molecules:

a)CD3 is found on all B calls,not T cells.

b)CD1 is found on mature T cells.

c)CD19+CD20 are found on T cells.

d)CD4 is called cytotoxic.

e)CD56 found on NK cells.

16/All are features of complement system EXCEPT:

a)lysis of damaged cells.

b)opsonization of microbes.

c)chemoattractants for neutrophils.

d)participates in inflammation.

e)inhibits cytokines.

17)The FcV potion cosists of:

a)Lv+Hv
18)Regarding(GM-CSF)choose the correct answer:

a)used in bone marrow transplant

51.Standard sterilization method in hospitals:

 a) Auto clave *

 b) Hot air oven

 c) Pasteurization

52.The favored way to sterilize milk is by :

 a) Auto clave

 b) Pasteurization *

 c) Hot air oven

 d) Radiation

53.Temperature in pre vacuum autoclave :

 a) 134 cْ   *

 b) 200cْ
 c) 100cْ
 d) 165cْ
 e) 113cْ
54.Complete killing of microorganisms is :

 a) Disinfection

 b) Sterilization *

 c) Disinfectant

 d) Antiseptic

 e) Antibiotic

55.Method for sterilization of a plastic catheter is:

 a) Auto clave

 b) Hot air oven

 c) Gluteraldehyde 

 d) Ethylene oxide chamber *

 e) Radiation

56.Which structure helps in adhering :

 a) Pilli

 b) Flagella 

 c) Fimbrae *

 d) Capsule

 e) Polysaccharide

39)group A strpt. Causes: 
  a)urinary tract inf. 
  b)endocarditis 
  c)tonsillitis  

40)group B strep. (agalactae)early manifestation: 
 a)produce mild disease 
 b)onset in 2 week of life 
 c)occurs after full time birth 
 d)hospital acquired 
 e)acquired inutero 

41)treatment for group B strept. 
 a)penicillin 
 b)vancomicin 
 c)rifampicin 
 d)cephalosporin 

42)all are subendocarditis characteristics except: 
 a)vegetation 
 b)transiet bacterima 
 c)rapid progression of disease 
 d)abnormal heart valve * 
 e)caused by viridans 
 
43)strep. Pneumoniae: 
 a)resistant to opt chin 
 b)opportunistic 
 c)cause dental plaque 
 d)lysed by bile salts. * 
 
44)splenoctomy raises the risk to: 
 a)strep. Pneumoniae *
 b)tuberculosis 
 c)strep. Viridans 
 d)leprosy
20.which bacteria is usually capsulated:

         a)streptococcus viridans

         b)streptococcs pneumonia *

         c)staph. albicans

         e)m. tuberculosis

 21.which test is used for differentiation between staph. & streptococci :

         a)coagulase test

         b)catalase test *

         c)Dnase

         d)phospholase

22.which test is used for diff. between staphyloaureus & other types of staph. :

         a)coagulase *

         b)catalase

         c)Danse

         d)phospholase 

         e)growth on mannitol

 23.all the following bacteria have defective cell wall EXCEPT :

   a)mycoplasma

   b)L_form

   c)protoplast

   d)m.tuberculosis *

   e)spheroplast

     24)which of the following cause urinary tract infection :

  a)A streptococcus

  b)streptococci agalactiae

  c)staph. aureus

  d)group D streptococci (strept. Faecalis) *

  e)pneumococcus

25)staph. aureus are found in :

 a)nose *

 b)lung

 c)brain

 d)pharynx

26)deep infection of staph. aureus are all EXCEPT :

 a)septicemia

 b)endocarditis

 c)pneumonia

 d)osteomyelitis

 e)meningitis *

27)which bacteria causes wound infection mainly :

 a)staph. aureus *

 b)staph. epidermidis

 c)m. TB

 d)group A strept.

 e)group B strept.

28)staph. areus cause all EXCEPT :

 a)impetigo

 b)conjunctivitis

 c)food poisoning

 d)tonsillitis *

29-The bacteria which causes biofilm of cannulae : 
 a)staph. Aureus… 
 b)staph. epidermis… * 
 c)strepto. Aglactiae… 
 d)strepto. pneumonia… 
 e)????... 

30-Which bacteria can grow in presence or absence of oxygen : 
 a)strict aerobes… 
 b)facultitive anaerobs… * 
 c)strict anaerobs… 
 d)microaerophills… 
 e)gram (-)… 

31-Treatment of staphylo aureus (drug of choice) : 
 a)penicillin… 
 b)flu\cloxacillin… * 
 c)vancomycin… 
 d)cephalosporin… 
 e)????... 
32-Which disinfectant is used for spores : 
 a)alcohol… 
 b)hexehorphine… 
 c)phenolics… 
 d)glutaldhyde… * 
 e)????... 

33-The following bacteria causes urinary tract infection in female : 
 a)staph. aureus… 
 b)staph. epidermis… 
 c)staph. saphrophiticus… * 
 d)strepto. Group A… 

10.for testing the sterilization of heat method we use:

 a) bacillus stearothermophilus *

 b) Tuberculin test 

 c) bacillus pumilus

 d) bacillus globigii

 11. Which one of these structures involved in transfer of genitic material:

  a) Flagella

  b) Fimbrae

  c) Cell wall

  d) Pilli *

 12. Which one of the following is derived from gram negative bacteria:
  a) Protoplast

  b) Tubcoerculosis

  c) L-form bacteria

  d) Spheroplast *

  e) Mycoplasma

13. Shortest generation time of bacteria:
  a) Lag phase

  b) Log phase *

  c) Stationary phase

  d) Decline phase

  e) Adaptation phas

14. Maximum use of O2:
  a) Lag phase

  b) Decline phase

  c) Stationary phase

  d) Log phase *

  e) Death phase

      15. The best time for antibiotics to kill bacteria:

  a) Log phase *

  b) Lag phase

  c) Stationary phase

  d) Decline phase

  16. All are contents of gram positive bacteria except:

   a) Peptidoglycan

   b) Lipopolysaccharide *

   c) Teichoic acid

   d) Antigens

   e) Cell membrane

  17. Which machanism of gene transfer acquires DNA from the environment:
   a) Conjugation

   b) Transduction 

   c) Transformation *

   d) Deletion 

   e) transition

1. all of the following have normal flora Except:

a) mouth

b) colon

c) vagina

d) skin

e) peritoneum *

1- All of the following is phase I reaction except: 

a- Oxidation

b- Reduction

c- Hydrolysis

d- Sulphate conjugate     



2- malignant hyperthermia is treated by: 

a- Dontrolene

b- Succinylcholine

c- Vecuronium

d- Hyoscine

     3- Al Zheimer's disease is treated with: 

        a- Donepezil      





        b- Atropine

        c- Methacholine

       d- Benzedil 

4-Drug used for diagnosis of myasthenia gravis : 

a- Edrophonium





b- Neostigmine

c- Atropine

d- Pilocarpine
      5- A drug have PH = 10 is best absorped in :

      a- stomach

      b- intestine 

      c- a & B

     d- non of the above

6- one of the following is true regarding Sublingual administration :

     a- used in large doses

     b- used in ER
     c- food drug interaction

     d- destroyed by  stomach PH

7- all the following are liver microsomal inhibitors except :

    a- cimteidine

    b- ketconazole

    c- probencid

    d- phnytoin

8- All  of the following will stop action of drug except:
· Metabolism

· Excretion

· Redistribution

· Enterohepatic recirculation

 9-Plasma half life of drug is the time which is required to:

· Decrease blood concentration of drug to the half

· Reach steady state

· Give 50% response in the indivisual

· All of the above

10 - Hyosine differ from atropine in that :

· It stimulate vagal nucleus more

· Less contraindicated in glaucoma 

· Induce more bradycardia 

· Has more sedation & amnesic action

*** T & F Questions :

1- Atropine is contraindicated in : 

a- Intestinal colics    




( F )

b- Glucoma






( T )

c- prostatic hypertrophy


 
            ( T )


d- constipation 





( T ) 

2- Idiosyncrasy : 

a- genetic disorder



(  T )

b- Unpredictable



(  T )


c- Not related to pharmacological action
(  T )


d- Is an antigen-antibody reaction

(  F ) 

3- Antagonist : 

a- Lack intrinsic effect                ( T   )





b- Can bind to receptor               (  T  )

c- Blocks the action of agonist    (  T )

d- Has no affinity                       ( F  )
    4-   Drug Bound to plasma protein:  
· Is metabolized in liver 


(F    )

· Is pharmacologically inactive 

(  T  )

·  Is easily enter capillary bed 

(   F )

· Can be distributed easily 

(   F )

5- Bethanechol :

· Cause contraction in GIT muscle 
(  T  )

· Decrease heart rate 


(  T  )

· Contraindicated in urinary retention 
(  F  )

· Cause bronchospasm


(   F )

6 -Hyosine

· Cause diarrhea 



( F   )

· May cause amnesia 


(  T  )

· Short duration                                              ( T   )

· Cause bronchospasm                                  (  F  )

7- Neostigmen :
· Is readily cross blood brain barrier 

(  F  )

· Is contraindicated in myasthenia gravis 
(  F  )

· Irreversible inhibit Ach esterase 

(   F )

· Short duration of action                                 (    )

· 8- -Drug metabolism:
· Effect its own metabolism 




(  T  )

· Decrease its water solubility 




(  F  )

· Important for prodrug to act 




(  T  )

· Active drug can be converted to another active drug 
(  T  )

